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Dev and Joe each buy a book.
Dev pays with a £5 note and gets £1.05 change.
Joe’s book costs £7

How much more does Joe’s book cost than Dev’s book?

Show

your
method
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Emily has these coins.

How much more money does Emily need to make exactly £5?
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Here are three bags in a shop

A B C
£11.50 £14.65 £16.50

How much does bag B cost to the nearest pound?
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Jamie buys bag A and bag C.

How much change does he get from £40?

Show

your
method
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Write the number that is five less than ten million.

Write the number that is one hundred thousand less than six million.
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This table shows the temperature at 9 am on three days in January.

1st January 8th January 15th January

+5°C —4°C +1°C

What is the difference between the temperature on 1st January and the temperature on 8th
January?

°C

On 22nd January the temperature was 7 degrees lower than on 15th January.

What was the temperature on 22nd January?

°C
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Write the two missing digits.

34
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A pack of paper has 150 sheets.
4 children each take 7 sheets.

How many sheets of paper are left in the packet?

Show

your
method
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Liam buys two apples.

He pays with a £1 coin and gets 64p change.

How much does one apple cost?

Show

your
method
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Chen and Megan each buy a sandwich.
Chen gets 5p change from £2
Megan gets £2.25 change from £5

How much more does Megan pay than Chen?

Show

your
method





